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6.  Sketch the root locus for th
of unity feedback control system given as :

G(S) = K/S(S+1) (S+3) and determine :

7. The maximum overshoot
system having its forward path gain is
G(S) =K/S(ST+1) is to be reduced from 6(

8. Using Nyquist criterion

(a) The value of K for
(b) The value of K form

the system input is a unit s
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is G(S)H(S)=K (S+1)/
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() K=25

" Also determine the limitin

9,  Draw the Bode-plot for t
~ G(S) H(S) =48 (S+10)/'S(S+20) (S*+2.4S-
correction to the magnitude plot for the que
and comment on the stability.
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